o

>,
o,
o
ful)
o
kl

HEAEY] Fol7t 3 Q) U] $A

@ 2+y’=1

@ x?+y? =32

29



ol =ge L7}

o
—

¥ +y?-2y-3=0



3. AP 0), QO, —1), R(2, 2)& At 9 AL 2 432 +
ax+ by +c =00tk o|Hff, a + ¢ 9] G227

® -1 @ -2 ® -3 @ 2 ® 3



of w4

A

o

(0, 3), (4, 3)

al

KA
I

™~
%

1

oly=x-1 %

<A

Nfo

@ V6 ® 7 @2v2 O3

@ V5



F U4y —x+2y-3=0,2x2+2y? —6x+ay-2 =09 FFF|
Ay =-3x-1 3 Aug uf, A< a o] 322

@1 @ 2 ® 4 @ 8 ® 16






OJAPA 22 42— dx— 2y~ k = 0 0] P& JEREE 4 &
akol w912 st

® k<-5 @ k>-5 ® -5<k<5
@ k<5 ® k>-45



FHA(-1,0),B(2, 0) 22 5E Ao H7k2: 10 H P o A=
ol & ettt o] o, o] o] ¥tz 5o Zo]=?

) @ 2 ®

| W



T2y -2x-2y4+1=0,x2+)2—6x—8y = 02 ATA F
2o e

@ A= o]Fof qltt

@ -

® % oA whdrt

@ g

® @ o] the Ae] o] gt



My =-2x+a7b D a® +y2—dx -2y +4 = 0°] 25t FejA &
Aee] AolE A= s al S 7

@ 4 @ 5 ® 6 o .



11.

a2 +y* =10 919 A (1,-3) oA ol 12 H

O -10

10
-3

® -1

@ 10



12.



13. Fdx2+y"-5=0"+)?-3x-y-4=0° ZH} H(L1)
AU 910] M Alo] 2 432 4+ Ax 4 By + C = 0

o] ZkS L5foiet.

B
2

[e2}

o
=
J o, A+B-C



14.

A x?+y?-2ax—-2y-4=0° ¥ x> +y? +2x+2ay-2 =09
=& ol T2t A o, a o 3ol e2?

® -4 @ -2 ® -1 @1 ® 2



15.

ofd
o
o
o

B 242

@ 243

® 345



® V10

@ 22 @ 3

@ V7

©



17. ohe 93t A4 w9 A%5E Fotolet.

P4+y2=4, y=x+3

B e 7



18. Y 24,2
A x2+y2 =29 AMy=—x+k o]

%}:%‘7(1:’_}’, k<0 ) @—@ 01]/\-1 ?_]_—]/]—E% 6’]—1_—_ k

Ga:k:



19.

A 3x+4y+a=0° A x%+y2 =4 A2 GE F HoA
WS St 4o o o) A48 Fojolet

> EE A



20. x*+y* =549 A (-1,3) oA o] ol HAS T, A (-1.3)
ANA HH7HA o AZE F-shofzt

D
=%



21. 71271712013 9 2 42 = 0 o HShe T A0 y HHS 247}
a, bt S, a-b o G227 (Fa>b)

@ 3 @ 23 ® 4 @ 247 ® 65






23. A 3x+4y+a=0°ldx*+y*-2x+2y=20°1 HL ], F5a
o] F& oA L.

b o=



717k 3 o]l ¥ ¥ +y% = 16 o]l o= AH 02 A 4 A
(?

@ y=13x-9 @ y=3x-8
@ y= V3x+8 ® y=V3x+9

1=}
L

® y= V3x-5

bl

S
=



Ape Potele,

9y



